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6. évfolyam 

Angol nyelv  
6. évfolyam   

  Nyelvi szint A1 

Mérési 
azonosító 

1.feladatrész: 
Olvasott szöveg 

értése 

2.feladatrész: 
Hallás utáni értés 

Összpontszám:30 
pont 

Mérési eredmény 

A271-C743 12 14 26 86,67% megfelelt 

A887-W999 9 14 23 76,67% megfelelt 

B669-X560 15 11 26 86,67% megfelelt 

B855-M671 9 13 22 73,33% megfelelt 

G183-X464 13 14 27 90,00% megfelelt 

M254-R119 15 15 30 100,00% megfelelt 

P147-A737 11 13 24 80,00% megfelelt 

R874-V410 14 15 29 96,67% megfelelt 

V373-C978 13 14 27 90,00% megfelelt 

Átlag     26 86,67%   

 

  



Német nyelv  
6. évfolyam  

Nyelvi szint A1 

Mérési 
azonosító 

1.feladatrész: 
Olvasott szöveg 

értése 

2.feladatrész: 
Hallás utáni értés 

Összpontszám: 
30 pont 

Mérési eredmény 

A925-R380 13 13 26 86,67% megfelelt 

C259-F831 14 13 27 90,00% megfelelt 

C834-J652 15 15 30 100,00% megfelelt 

G328-U150 13 14 27 90,00% megfelelt 

H332-V362 15 14 29 96,67% megfelelt 

H716-T955 9 7 16 53,33% nem felelet meg 

J333-J537 14 13 27 90,00% megfelelt 

J931-E814 13 14 27 90,00% megfelelt 

K717-D650 14 14 28 93,33% megfelelt 

K826-E290 12 9 21 70,00% megfelelt 

N559-G734 5 12 17 56,67% nem felelet meg 

N983-T683 14 13 27 90,00% megfelelt 

Q541-P250 8 10 18 60,00% megfelelt 

R829-E196 14 14 28 93,33% megfelelt 

S342-W878 9 13 22 73,33% megfelelt 

T199-K377 15 14 29 96,67% megfelelt 

U782-C926 15 15 30 100,00% megfelelt 

W217-D487 15 10 25 83,33% megfelelt 

W257-W987 11 15 26 86,67% megfelelt 

D871.S995 15 15 30 100,00% megfelelt 

F327-F213 15 15 30 100,00% megfelelt 

H775-J746 13 15 28 93,33% megfelelt 

J475-G630 15 15 30 100,00% megfelelt 

K246-R116 5 10 15 50,00% nem felelet meg 

K383-M877 15 14 29 96,67% megfelelt 

L431-X287 15 15 30 100,00% megfelelt 

N866-S992 11 12 23 76,67% megfelelt 

O636-H280 14 15 29 96,67% megfelelt 

P593-C114 15 14 29 96,67% megfelelt 

Q234-A384 15 15 30 100,00% megfelelt 

R222-Q174 11 10 21 70,00% megfelelt 

R958-U186 7 12 19 63,33% megfelelt 

S541-T892 14 15 29 96,67% megfelelt 

U729-B186 15 15 30 100,00% megfelelt 

V113-H912 9 13 22 73,33% megfelelt 

V265-E879 15 15 30 100,00% megfelelt 

Átlag     26 86,48%   
 



8. évfolyam 

Angol nyelv  
8. évfolyam    

 Nyelvi szint A1 

Mérési 
azonosító 

1.feladatrész: 
Olvasott szöveg 

értése 

2.feladatrész: 
Hallás utáni értés 

Összpontszám: 
40 

Mérési eredmény 

A619-H644 13 17 30 75,00% megfelelt 

B131-X966 12 14 26 65,00% megfelelt 

X411-R877 10 12 22 55,00% megfelelt 

C473-N493 10 10 20 50,00% megfelelt 

F887-C889 10 14 24 60,00% megfelelt 

J799-J216 7 7 14 35,00% megfelelt 

K671-N182 14 9 23 57,50% megfelelt 

O752-J252 11 13 24 60,00% megfelelt 

P626-R970 15 11 26 65,00% megfelelt 

T528-H457 19 17 36 90,00% megfelelt 

U492-D239 7 11 18 45,00% megfelelt 

U898-A782 7 8 15 37,50% megfelelt 

W969-U983 11 11 22 55,00% megfelelt 

Átlag     23 57,69%  

 

 

  



 

Német nyelv 
8. évfolyam 

 Nyelvi szint A1 

Mérési 
azonosító 

1.feladatrész: 
Olvasott 

szöveg értése 
2.feladatrész: 

Hallás utáni értés 
Összpontszám: 

40 pont 
Mérési 

eredmény   

V664-X578 17 18 35 87,50% megfelelt 

U999-U599 11 14 25 62,50% megfelelt 

S343-L121 9 14 23 57,50% nem felelet meg 

R638-O171 20 19 39 97,50% megfelelt 

Q415-M388 16 13 29 72,50% megfelelt 

M157-U392 18 18 36 90,00% megfelelt 

K554-A944 12 12 24 60,00% megfelelt 

K277-N564 14 10 24 60,00% megfelelt 

J962-D420 8 12 20 50,00% nem felelet meg 

H719-K589 14 10 24 60,00% megfelelt 

H253-P119 13 14 27 67,50% megfelelt 

G514-E241 16 15 31 77,50% megfelelt 

G358-V934 10 14 24 60,00% megfelelt 

B632-U565 20 16 36 90,00% megfelelt 

A239-c877 14 9 23 57,50% nem felelet meg 

C966-D521 20 20 40 100,00% megfelelt 

D429-N472 15 16 31 77,50% megfelelt 

D491-P378 20 20 40 100,00% megfelelt 

E183-H242 13 13 26 65,00% megfelelt 

E366-B181 6 5 11 27,50% nem felelet meg 

F952-N938 20 20 40 100,00% megfelelt 

H166-G536 1 3 4 10,00% nem felelet meg 

H814-G318 19 19 38 95,00% megfelelt 

L927-D359 20 20 40 100,00% megfelelt 

M634-W994 19 19 38 95,00% megfelelt 

N743-T474 10 17 27 67,50% megfelelt 

O237-M190 13 13 26 65,00% megfelelt 

Q293-X339 5 6 11 27,50% nem felelet meg 

S247-V736 14 18 32 80,00% megfelelt 

W994-Q592 20 19 39 97,50% megfelelt 

átlag       71,92%   

 


